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M. Com. (Fourth Semester) (Main/ATKT) 

EXAMINATION, 2020 

(Group—C : Banking and Insurance) 

(Optional Group—C) 

LIFE INSURANCE  

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- Hkkjr esa igyh chek dEiuh dgk¡ LFkkfir dh x;h Fkh \ 

¼v½ dksydkrk 

 [ 2 ] D–126 

 (B-19) 

¼c½ eqEcbZ 

¼l½ psUubZ 

¼n½ fnYyh 

Where was the first Insurance Company established in  
India ? 

(a) Kolkata 

(b) Mumbai 

(c) Chennai 

(d) Delhi 

2- thou chek lafonk esa dkSu&ls fo’ks”k fu;e dk ikyu djuk vko’;d 
gS \ 

¼v½ chek ;ksX; fgr lEca/kh fu;e 

¼c½ ije ln~fo’okl lEca/kh fu;e 

¼l½ ¼v½ ,oa ¼c½ nksuksa 

¼n½ mi;qZDr esa ls dksbZ ugha 

What special rules are required to be followed in a life 
insurance contract ?   

(a) Rules related to insurable interest 

(b) Rules related to utmost good faith 

(c) Both (a) and (b) 

(d) None of the above 

3- Hkkjr esa izFke chek vf/kfu;e dc ikfjr gqvk \ 

¼v½ 1912 

¼c½ 1928 

¼l½ 1938 

¼n½ 1956 
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When was the first Insurance Act passed in India ? 

(a) 1912 

(b) 1928 

(c) 1938 

(d) 1956 

4- ‘kkjhfjd fodf̀r;ksa dk tksf[ke mi&Lrjh; thou dks fdl Js.kh esa j[kk 

tk;sxk \ 

¼v½ of̀)orhZ vfrfjDr tksf[ke 

¼c½ viorhZ vfrfjDr tksf[ke 

¼l½ fLFkj vfrfjDr tksf[ke 

¼n½ buesa ls dksbZ ugha 

Risk of physical deformities would be placed in which 

categories of sub-standard lives ?   

(a) Increasing Extra risk 

(b) Decreasing Extra risk 

(c) Constant Extra risk 

(d) None of these 

5- Hkkjrh; thou chek ds jk”Vªh;dj.k ds le; Hkkjr ljdkj ds 

rRdkyhu foŸk ea=h dkSu Fks \ 

¼v½ lh- Mh- ns’keq[k 

¼c½ Vh- Vh- d”̀.kkekpkjh 

¼l½ tokgj yky usg: 

¼n½ eksjkjth nslkbZ 
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At the time of nationalization of Indian Life Insurance, who 

was the then Finance Minister of the Government of India ? 

(a) C. D. Deshmukh 

(b) T. T. Krishnamachari 

(c) Jawaharlal Nehru 

(d) Morarji Desai 

6- Hkkjrh; thou chek fuxe us thou chek dk O;olk; ‘kq: fd;k % 

¼v½ 19 tuojh] 1956 dks 

¼c½ 1 tqykbZ] 1956 dks 

¼l½ 1 flrEcj] 1956 dks 

¼n½ 1 fnlEcj] 1956 dks 

Life Insurance Corporation of India started life insurance 

business :  

(a) On 19 January, 1956 

(b) On 1 July, 1956 

(c) On 1 September, 1956 

(d) On 1 December, 1956 

7- Hkkjrh; thou chek fuxe dk vkn’kZ okD; gS % 

¼v½ ;ksxj{kk ogkE;ge~ 

¼c½ ;ksxdeZ ogkE;ge~ 

¼l½ ;ksx{kse ogkE;ge~ 

¼n½ ;ksx/keZ ogkE;ge~ 



 [ 5 ] D–126 

 (B-19) P. T. O. 

Is the Motto of LIC of India : 

(a) Yogaraksha Vahamyaham 

(b) Yogakarma Vahamyaham 

(c) Yogakshema Vahamyaham 

(d) Yogadharm Vahamyaham 

8- thou chek ikWfylh dh Hkqxrku laca/kh ‘krks± esa ‘kkfey ugha gS % 

¼v½ nkoksa dh lqfo/kk 

¼c½ eR̀;q ds nkos 

¼l½ ifjiDork ds nkos 

¼n½ buesa ls dksbZ ugha 

Life Insurance is not included in the payment terms of the 

policy : 

(a) Claim concession 

(b) Death claims 

(c) Claim by Maturiry 

(d) None of these 

9- fcuk MkWDVjh tk¡p ds ches dh fo’ks”k ;kstuk ds varxZr buesa ls 

dkSu&ls chek i= fuxZfer fd;s tkrs gSa \ 

¼v½ thou cankscLrh ikWfylh 

¼c½ nksgjk cankscLrh ikWfylh 

¼l½ fookg cankscLrh ikWfylh 

¼n½ mi;qZDr lHkh 

Which of these insurance policy is issued under a special 

insurance plan without medical examination ?  

(a) Life Endowment Policy 
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(b) Double Endowment Policy 

(c) Marriage Endowment Policy 

(d) All of the above 

10- buesa ls dkSu&lk chek i= ,d vLFkk;h chek gS \ 

¼v½ vkthou chek&i= 

¼c½ cankscLrh chek&i= 

¼l½ vof/k chek&i=  

¼n½ mi;qZDr lHkh 

Which of these insurance policy is a temporary insurance ? 

(a) Whole life insurance 

(b) Endowment policy 

(c) Term policy 

(d) All of these 

11- eR̀;q nj ,oa C;kt nj }kjk fu/kkZfjr izhfe;e dks dgk tkrk gS % 

¼v½ ldy izhfe;e 

¼c½ ‘kq) izhfe;e 

¼l½ uodj.k izhfe;e 

¼n½ buesa ls dksbZ ugha 

The premium determined by the death rate and interest rate 

is called : 

(a) Gross premium 

(b) Net premium 

(c) Renewal premium 

(d) None of these 
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12- ladfyr ;k p;fur eR̀;qla[;d rkfydk ds vkfo”dkjdrkZ gSa % 

¼v½ Vh- oh- Lizsx 

¼c½ ts- ch- eSDyhu 

¼l½ es;jlu 

¼n½ ts- ,p- eSxh 

Who is the inventor of select mortality table ? 

(a) T. V. Spreag 

(b) J. B. Maclean 

(c) Mayerson 

(d) J. H. Magy 

13- fdl okf”kZdh dk Hkqxrku ,d fuf’pr vof/k chrus ds ckn izkjEHk gksrk 
gS \ 

¼v½ rkRdkfyd okf”kZdh 

¼c½ izR;korhZ okf”kZdh 

¼l½ foyfEcr okf”kZdh 

¼n½ izfrnk;h okf”kZdh 

Which annuity starts paying after a certain period of time ? 

(a) Immediate Annuity 

(b) Reversionary Annuity 

(c) Deferred Annuity 

(d) Refund Annuity 

14- Hkkjrh; thou chek fuxe dk {ks=h; dk;kZy; dk eq[;ky; ugha gS % 

¼v½ dkuiqj 

¼c½ iVuk 

¼l½ Hkksiky 

¼n½ csaxyq# 
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The Regional Office of LIC of India does not have its 
headquarters at : 

(a) Kanpur 

(b) Patna 

(c) Bhopal 

(d) Bengaluru 

15- chek vfHkdŸkkZ dks fu;ekuqlkj ykblsUl nsus dk vf/kdkj izkIr gS % 

¼v½ bjMk }kjk izkf/kdr̀ vf/kdkjh dks  

¼c½ ,y- vkbZ- lh- }kjk izkf/kdr̀ vf/kdkjh dks 

¼l½ dsUnz ljdkj }kjk izkf/kdr̀ vf/kdkjh dks 

¼n½ ¼v½ rFkk ¼c½ nksuksa dks 

The insurance agent has the right to license as per rules : 

(a) To an officer authorized by IRDA 

(b) To an officer authorized by LIC 

(c) To an officer authorized by Central Govt. 

(d) Both (a) and (b) 

16- vfHkdFku (A) % dEiuh dks chek dk dkjksckj djus ds fy, ^bjMk* ls 
iath;u dk izek.k&i= izkIr djuk vfuok;Z gSA 

rdZ (R) % iath;u izek.ki= dh vof/k dsoy ,d o”kZ gksrh gSA 

dwV % 

¼v½ (A) lgh gS ysfdu (R) xyr gSA 

¼c½ (A) xyr gS] ysfdu (R) lgh gSA 

¼l½ (A) ,oa (R) lgh gSa rFkk (A) dk lgh Li”Vhdj.k (R) djrk 
gSA 

¼n½ (A) ,oa (R) lgh gSa rFkk (A) dk lgh Li”Vhdj.k (R) ugha 
gSA 
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Assertion (A) : It is mandatory for the company to obtain a 

certificate of registration from ‘IRDA’ to carry on the 

business of insurance. 

Reason (R) : The period of registration certificate is only 

one year. 

Code : 

(a) (A) is true, but (R) is false. 

(b) (A) is false, but (R) is true. 

(c) (A) and (R) are correct and (R) is correct explanation 

of (A). 

(d) (A) and (R) are correct, but (R) is not the correct 

explation of (A) . 

17- orZeku esa Hkkjr esa fdruh thou chek dEifu;k¡ gSa \ 

¼v½ 12 

¼c½ 18 

¼l½ 24 

¼n½ 26 

How many Life Insurance Companies are there in India at 

present ? 

(a) 12 

(b) 18 

(c) 24 

(d) 26 
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18- Hkkjrh; thou chek fuxe buesa ls dkSu&lk dk;Z ugha djrk gS \ 

¼v½ ns’k&fons’k esa thou chek dk O;kid izlkj 

¼c½ lEifŸk dk Ø;&foØ; djuk 

¼l½ izfrHkwfr;ksa dh tekur ij _.k nsuk 

¼n½ turk ls fu{ksi Lohdkj djuk 

LIC of India does not do which of the following ? 

(a) Widespread of life insurance in India and abroad 

(b) Purchase and sale of property  

(c) Lending against securities 

(d) Accepting deposits from the public 

19- ^,s’;ksjsal* ‘kCn iz;qDr fd;k tkrk gS % 

¼v½ thou chek ds fy, 

¼c½ vfXu chek ds fy, 

¼l½ leqnzh chek ds fy, 

¼n½ mi;qZDr lHkh ds fy, 

‘Assurance’ word can be used for : 

(a) Life Insurance 

(b) Fire Insurance 

(c) Marine Insurance 

(d) All of the above 

20- fuEufyf[kr dk feyku dhft, % 

(a) thou /kkjk (i) foyfEcr okf”kZdh 

(b) thou v{k; (ii) rkRdkfyd okf”kZdh 

(c) thou Jh (iii) dh&esu chek 

(d) thou lqjfHk (iv) cankscLrh chek 
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         (a)     (b)     (c)     (d) 

¼v½ (i)    (ii)     (iii)   (iv) 

¼c½ (iii)  (i)      (iv)    (ii) 

¼l½ (i)    (ii)     (iv)    (iii) 

¼n½  (i)    (iii)    (iv)    (ii) 

Match the following : 

(a) Jeevan Dhara (i) Deferred Annuity 

(b) Jeevan Akshay (ii) Immediate Annuity 

(c) Jeevan Sri (iii) Key’s-man Insurance 

(d) Jeevan Surabhi (iv) Endowment 

Insurance 

         (a)    (b)    (c)   (d) 

(A)  (i)    (ii)    (iii)  (iv) 

(B)  (iii)  (i)     (iv)   (ii) 

(C) (i)    (ii)    (iv)  (iii) 

(D) (i)    (iii)    (iv)  (ii) 

 

 [k.M&c izR;sd 2 
(Section—B) 

vfr y?kq mŸkjh; iz’u 
(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

1- thou chek dh ifjHkk”kk nhft,A 

Define Life Insurance. 
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2- vfHkgLrkadu ds mís’; D;k gSa \ 

What is the object of assignment ? 

3- ije ln~fo’okl laca/kh fu;e dks le>kb,A 

Explain the utmost good faith rules.  

4- vkthou chek&i= rFkk cankscLrh chek&i= esa vUrj Li”V dhft,A 

Distinguish between whole life policy and endowment 
policies. 

5- èR;qla[;drkfydk dh eq[; fo’ks”krk,¡ crkb,A 

State the main characteristics of mortality tables. 

6- cks>u ls D;k vk’k; gS \ 

What do you mean by Loading ? 

7- chek ,ts.Vksa ds ikfjJfed ls lacaf/kr oS/kkfud fu;e crkb;sA 

State the statutory rules regarding insurance agent’s 
remuneration. 

8- leiZ.k ewY; ls vki D;k le>rs gSa \ 

What do you mean by Surrender Value ? 

 [k.M&l izR;sd 3 
(Section—C) 

y?kq mŸkjh; iz’u 
(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 
 Attempt all questions. 

1- fcuk MkWDVjh tk¡p ds thou chek dh lk/kkj.k ;kstuk dks  
le>kb,A 

Explain the non-medical life insurance ordinary scheme. 
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2- L=h thouksa dk chek ij ,d laf{kIr fVIi.kh fyf[k,A 

Write a short note on Insurance of female lives. 

3- chek&i= ds ifjiDo gksus ij nkoksa dk fuiVkjk djus dh izfØ;k 

fyf[k,A 

Write the procedure of claim settlement on maturity of the 

policy.  

4- vof/k ikWfylh dh fo’ks”krk,¡ crkb,A ;g ikWfylh fdrus izdkj dh 

gksrh gS \ 

State the features of term policies. What are the kinds of 

such policies ? 

5- okf”kZdh vkSj thou chek esa vUrj crkb,A 

Distinguish between Life Insurance and  

Annuities. 

6- chek ,ts.Vksa dh lsokvksa dh foospuk _.k rFkk nkoksa ds fuiVkus ds 

lEcU/k esa dhft,A 

Discuss the Insurance Agents services regarding loan and 

settlement of claims. 

7- Hkkjrh; thou chek fuxe ds mís’;ksa dks Li”V dhft,A 

Discuss the objectives of Life Insurance Corporation of 

India.  
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8- Hkkjr esa thou chek O;olk; dk futhdj.k dc gqvk \ Hkkjr esa 

bldk D;k izHkko iM+k \ 

When was the life insurance business privatized in India ? 

What was its impact in India ? 

 [k.M&n izR;sd 5 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % fdUgha pkj iz’uksa ds mŸkj yxHkx 150&200 ‘kCnksa esa nhft,A 

 Attempt any four questions in about 150-200 words. 

1- ß;g thou chek dh fo’ks”krk gS fd ;g dsoy lqj{kk gh ugha oju~ 

fofu;ksx Hkh iznku djrk gSAÞ fVIi.kh dhft,A 

“Life Insurance involves both protection and investment.” 

Explain clearly this statement. 

2- thou chek ikWfylh dc dkykrhr gksrh gS \ ikWfylh ds dkykrhr 

gksus ds nks”k D;k gSa \ 

When does a Life Insurance Policy lapse ? What are the 

drawbacks of such lapse ? 

3- thou chek esa izhfe;e fu/kkZj.k ds rRoksa dk foospu dhft,A 

Discuss the elements of premium determination in life 

insurance. 
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4- Hkkjrh; thou chek fuxe ds e.My dk;kZy; ds dk;ks± vkSj laxBu 

dk o.kZu dhft,A 

Describe the functions and organisation of a Divisional 

Office of the LIC. 

5- bjMk ds laxBu vkSj mldh ‘kfDr;ksa rFkk dR̀;ksa dk o.kZu  

dhft,A 

Describe the constitution and powers and functions of  

IRDA. 
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